Solving Linear Equations Section 2.2

Linear Equations Involving Multiple Steps

To understand the proper steps in solving a linear equation, always remember that the ultimate goal is to isolate the
variable.
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Procedure for Solving a Linear Equation in One Variable

To solve an equation requiring multiple steps:

1. Simplify both sides of the equation.

2. Apply the addition or subtraction property of equality to collect the variable terms on one side of the equation.
3. Apply the addition or subtraction property of equality to collect the constant terms on the other side of the equation.
4. Use the multiplication or division property of equality to obtain a coefficient of 1 on the variable.
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Conditional Equations, Identities, and Contradictions

I. A conditional equation is an equation that is true for some values of the variable but false for other values.
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II. A contradiction is an equation that has no solution. Bx3 20 ano =1L owv
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III. An identity is an equation that has all real numbers as its solution.
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Identify the equation as a conditional equation, a contradiction, or an identity. Then describe the solution.
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11. If an equation has no solution, then is the equation a conditional equation, an identity, or a c_g\ntradiction‘?
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